Econ 204A: FaLL 2016
PRODUCER THEORY, CONSUMER THEORY, AND DECISION THEORY

PROBLEM SET 2
. Solve for the Marshallian demands in (with a > 0):
MaX(;, 15)eR? {U(z1,72) = min{z1, az2} : prz1 + paze < y}.

. J-R, 1.28, p. 62.

. Given the indirect utility function v(p1,pe,y) = find the Marshallian demands,

Yy
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expenditure function and direct utility function.

. Consider the indirect utility function given by
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Find the Marshallian demands, expenditure function and direct utility function. (Hint:

think!)

. M-W-G, 3.D.3, p. 97 (in part a. avoid the question regarding the wealth expansion path).



